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QUESTION 1

In a manufacturing plant, the work definition and rate plans of Material, Resource, and Overhead of an assembly have
been defined as required. A cost accountant created different scenarios to represent different manufacturing and cost
assumptions and compare the results. When the cost assumptions are finalized, the cost accountant is expected to
publish the cost scenario to cost accounting. Identify three process steps that the cost accountant has to perform to
transfer the assembly to cost accounting in frozen type.

A. Publish cost planning scenario to Accounting.

B. Build cost planning scenario and perform cost roll up.

C. Create Accounting Distributions.

D. Transfer transactions from production to Costing.

E. Define a cost planning scenario with Material, Resource, Overhead cost plans, and work definition.

F. Transfer Transactions from Inventory to Costing.

Correct Answer: CEF

QUESTION 2

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised?

A. The Production Operator can report and exception and the application generates a notification that is
sent to all users who have access to the manufacturing plant.

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant.

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated notification.

D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification.

Correct Answer: B

QUESTION 3

One of the key execution capabilities that Oracle Manufacturing Cloud offers is that you can generate and
manage work order exceptions.

Which option shows the production exception types that can be reported by the production operator?

A. Work Area, Work Center, and Resources
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B. Work Center and Resources

C. Resources and Components

D. Work Area, Work Center, Resources, and Components

E. Work Area, Work Center, Resources, Components, and Miscellaneous

Correct Answer: C

QUESTION 4

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not
getting transferred to Costing.

Identify the reason for work order transactions not getting transferred to Costing.

A. The Manage Item Rules setup is not complete.

B. The Costing Interfaced Attribute is enabled in the resource definition.

C. The item was made inactive after the Work Order transaction.

D. The Costing Interfaced Attribute is not enabled in the resource definition.

Correct Answer: D

QUESTION 5

In what three ways can you set the overcompletion tolerance for a subcomponent yield, so the job order can report the
excess production completion?

A. Overcompletion Tolerance Type = Amount, value > 0

B. Overcompletion Tolerance Type = Amount, value =0

C. Overcompletion Tolerance Type = Percentage, value = 100
D. Overcompletion Tolerance Type = Percentage, value > 0
E. Overcompletion Tolerance Type = Percentage, value = 0

Correct Answer: BDE

QUESTION 6
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As a production supervisor, you require immediate access to critical shop floor execution systems to take
action while on the go.

Which four work order related actions can be taken in the Manufacturing Supervisor mobile application?
A. Executing standard work order and updating item and resource usage

B. Creating a new standard or non standard work order

C. Searching for work orders and sending them through e-mail

D. Releasing work orders using quick swipe details

E. Reviewing operation, component, and resource detail

F. Reviewing customer information of work orders

Correct Answer: CDEF

QUESTION 7

Your customer has the following business requirement. There are two work definitions created in the application. One
Work Definition for Engine Finished Good and other Work Definition for Pallet Finished Good. The Engine Finished
Good item should have Pallet Finished Goods as one of its component. Identify the way to establish the relationship
between Pallet and Engine Work Definitions.

A. Create a Subinventory that could be the completion Subinventory for yielding the pallet and then the same
Subinventory can serve as the supply Subinventory of the pallet in the Work Definition created for Engine.

B. Assign a higher priority to the Work Definition created for Engine and a lower one for the Work Definition for Pallet.
C. The two Work Definitions can be tied through Project or Seiban numbers.
D. The Work Definition versions can be used to tie the Work Orders.

Correct Answer: D

QUESTION 8

Identify three entities that must be set up in Oracle Manufacturing Cloud to create a Work Definition for an item that will
be manufactured in-house.

A. Operation Items
B. Resources
C. Production Line
D. Operations

E. Manufacturing Lead Time
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Correct Answer: ABD

QUESTION 9

You are monitoring the production status on your shop floor. The production operator informs you that a particular
resource that was not functioning for the past week is now back in operation. Which option shows the steps to quickly
release the work orders affected by this operation, which were put on hold using the mobile application?

A. Select the infotile On Hold> Select a work order you want to release> Select the work order operation on hold >
Swipe left on the work order name> Tap or click the Release action, and click OK

B. Select the infotile On Hold> Select a work order you want to release> Swipe left on the work order name> Tap or
click the Release action, and click OK

C. Select the infotile Unreleased> Select a work order you want to release>Swipe left on the work order name> Tap or
click the Release action, and click OK

D. Select the infertile Dispatch List> Select a work order operation you want to release> Swipe left on the work order
name> Tap or click the Release action, and click OK

Correct Answer: D

QUESTION 10

You are reviewing the production status of your manufacturing plant shop floor as a production supervisor. Your
production manager wants a report on a work order status which is reserved against a particular customer. The final
assembly of the work order is serialized. Which option shows the steps to complete the task using the mobile
application?

A. Use your mobile camera to scan the bar coded serial number of the final assembly> Upload the barcode to open the
work order details page > Click Actions and select the E-mail icon> Select required work orders> Select the e-malil
client, enter the recipient\\'s e-mail, and click Send.

B. Select the infotile Customer to open the work order details page> Click Actions and select the E- mail icon> Select
required work orders>Select the e-mail client, enter the recipient\\'s e-mail, and click Send.

C. Use your mobile camera to scan the bar coded serial number of the final assembly> Upload the barcode to open the
work order details page> Select required work orders> Click Social icon (OSN) > Select recipient, and click Share.

D. Search the work order by customer name to open the work order details page> Click Actions and select the E-mail
icon> Select required work orders> Select the e-mail client, enter the recipient\\'s email, and click Send.

Correct Answer: A

QUESTION 11

Identify four parameters that are considered in the calculation of manufacturing lead time in Oracle Manufacturing
Cloud.
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A. Resource calendars of the work centers involved
B. The primary work definition of the item

C. The lot size of the item

D. The shifts are defined in the plant calendar

E. Plant calendar exceptions

F. Resource calendar exceptions

Correct Answer: BCDF

QUESTION 12

A Manufacturing Engineer in a plant is creating an alternative manufacturing process for an item using its existing Work
Definitions. After copying from the existing Work Definition WD1 to the alternative Work Definition WD2, the engineer
finds that the operation items were not copied in the alternative manufacturing process WD2. Identify the reason.

A. The Production Priority was not populated in the new Work Definition WD2 during creation.

B. The Item and Structure Name in the existing Work Definition WD1 were retained in the new Work Definition WD2 as
well during creation.

C. The Item and Structure Name were changed in the new Work Definition WD2 during creation.
D. The Start Data was not populated in the new Work Definition WD2 during creation.

Correct Answer: D

QUESTION 13

In a manufacturing plant, a production operator in a given shift completes a car assembly and reports this using
orderless completion by referencing a Work Definition. Identify the two purposes of the referenced Work Definition in
Orderless reporting.

A. Material usage

B. Resource usage

C. Processing steps

D. Scrap material

E. Return material

Correct Answer: AB
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QUESTION 14

A manufacturing cloud user wants to print information available in the work order in PDF. Identify the three reports that
the user can print directly from the work order screen using the Print PDF action.

A. Work Order Traveler
B. Resource List

C. Print Labels

D. Print Component List
E. Bill of material

Correct Answer: ACD

QUESTION 15

An employee is responsible for dealing with different manufacturing practices and processes, machines, tools and
equipment that turn raw material into a product. Which seeded job role must this employee be provided with?

A. Manufacturing Engineer
B. Production Engineer

C. Production Operator

D. Manufacturing Supervisor
E. Production Supervisor

Correct Answer: A
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